Company	AMTZ Medpolis Square 4554 Pvt Ltd Name of contractor		Pitami Naga	Pitami Naga Ganesh Kumar		Sl. No. site bills reg.		147		
Project/site	AMTZ 4554 Nature of wo		Nature of work	South Lifts 1	South Lifts 1&2 electrical works-		l Dt. site bills reg.		12-11-2025	
Block no.	AMTZ 4554		Work done from date	06-06-2025	06-06-2025		M-codex bill ID.			
WO no.	NA		Work done to date	05-11-2025			WO issued?			
	NA		Contractor bill no.	NΛ		GST bill required?		NA		
Sl. No.			Details of work		Qty	Units	Rate ID	Rate	Amount	
56.110	Cincino	South Lift-1		52-2						
1	Electrical	Light point			14	nos.	EL215	100.00	1,400	
	Electrical		th MCBs and isolator— 3 pl	hase	1	nos.	EL218	200.00	200	
3	Electrical	Switchboard fixing			14	nos.	EL212	300.00	4,200	
4	Electrical	wiring and fixing of a. 6A socket.	switch gear.		14	nos.	EL210	150.00	2,100	
	*	South Lift-2			*					
5	Electrical	Light point			14	nos.	EL215	100.00	1,400	
	Electrical	DB board fixing with upto 6 way.	h MCBs and isolator– 3 ph	nase	1	nos.	EL218	200.00	200	
7 1	Electrical	Switchboard fixing		= 1	14	nos.	EL212	300.00	4,200	



	1.	cludes conducting, king of switch gear.					7
8 Electrical	a. 6A socket.		14	nos.	EL210	150.00	2,100
·							15,800
					Add GST @	0%	0
			Т	otal amoun	t including taxes for	r work done	15,800
Remarks:			All Angeles		8	•	
Approved by project manager		Approved by QS team		Approve	ed by Director/E&D	team	
Sign: T. Rojen Kurry		Sign:		Sign:			
Date: DROVED		Date:		Date:			
Notes 1. In Street Englishes installation	report and apprice for c	credit to contractors. 2. This word form must be typed. 3. U	se this form even if work orde	r is not issued. 4.	. Attach measurement and	estimate sheets only	if required i.e.,
member to be taken. 7. Director im 9600	Soham, Anand Meht	a 10k QS manager and directors approval is required. 6. For ta (for GHT + GMR), Sachin (for Vivopolis), B. anand Kun tors to send seanned copy of bill to site and QS by email. 1	nar (for NGH + NRK). 8. Ent	ry of rate ID is m	andatory. 9. This sheet mu	ist be sent within 2 v	vorking days of

ESTIN	IATE SHEET	Approved by: Trajeshkumar			11 %			
-	ny Name:	AMTZ Medpolis Square 4554 Pvt Ltd						
Project	in the same of the	AMTZ 4554						1 -
The second second second	Description:	South Lifts 1&2 electrical works- lighting and DB's	*					
Prepar	A STATE OF THE PARTY OF THE PAR	P.b Siyakumar						
Date:	Cd Dy	12-11-2025						
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total	Remarks
		South Lift-1						
1	Electrical	Light point	14	nos.	100	1400		
		DB board fixing with MCBs and isolator—3 phase upto 6 way.	1	nos.	200	200		
	Electrical	Switchboard fixing	14	nos.	300	4200		
	Electrical	point basis includes conducting, wiring and fixing of switch gear.	14	nos.	150	2100		
1 4	Electrical	South Lift-2						
	Electrical	Light point	14	nos.	100	1400		
	Electrical	DB board fixing with MCBs and isolator—3 phase upto 6 way.	1	nos.	200	200		-
	Electrical	Switchboard fixing	14	nos.	300	4200		
8	Electrical	point basis includes conducting, wiring and fixing of switch gear.	14	nos.	150	2100		
		J J						



	Company Name: AMTZ Medpolis Square 4554 PM Ltd		Approved by:		T rajeshkumar				
	AM17/4554			Sign: Work start date:					
						16-10-2025			
Contractor: Pitami Naga Ganesh Kumar		and the state of t	Work end date:		05-11-2025				
		Date:		12-11-2025				Marie Communication (Communication Communication Communica	
I By:	duamulavia		and the second of the second o		The second secon				
			В	<u> </u>					Item Head Total
	Item Description	Length	Width	Height	Nos.	Unit wt/m	Quantity	Units	qty
nem Head									
lastman!		1.00	1.00	1.00	14	-	14.00	nos.	
ACAI RAII									
[control]		1.00	1.00	1.00	1	-			
and the latest transport to the latest transport		1.00	1.00	1.00	14	-	14.00	nos.	
	point basis includes conducting.								
lectrical	wiring and fixing of switch gear.	1.00	1.00	1.00	14		14.00	nos.	
	South Lift-2								
lectrical	Light point	1.00	1.00	1.00	14	-	14.00	nos.	-
lectrical						-			
lectrical		1.00	1.00	1.00	14		14.00	nos.	-
		1.00	1.00	1.00	14		14.00	noe	
Electrical	wiring and lixing of switch gear.	1.00	1.00	1.00	124		14.00	nos.	
	Item Head Rectrical Rectrical Rectrical	Item Head Item Description South Lift-1 DB board fixing with MCBs and isolator—3 phase upto 6 way. Switchboard fixing point basis includes conducting. Wiring and fixing of switch gear. South Lift-2 Sectrical DB board fixing with MCBs and isolator—3 phase upto 6 way. Sectrical DB board fixing with MCBs and isolator—3 phase upto 6 way. Switchboard fixing point basis includes conducting.	Item Head Item Description Length	Item Head Item Description South Lift-1 Light point DB board fixing with MCBs and isolator—3 phase upto 6 way. Idectrical Switchboard fixing point basis includes conducting. Width 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.	No. B C	Item Head	No. B C D E	No.	No. No.



Labour Charges Pitami Naga Ganesh Kumar AMTZ Visakhapatnam

Date:

12-11-2025

In favor of:

M/s. AMTZ MEDPOLIS SQUARE 4554 PVT. LTD.

Project/Site:

AMTZ4554

Location:

Visakhapatnam

Type of Work:

Lifts electrical work

Towards:

Labour Charges

S.No.		Description	Amount
1	Breif description of we	ork: South Lift 1&2 electrical work-	
	Lighting and Power soc	ekets, point based including conducting	6,320
	Total amount:	15,800.00	

Amount in Word: Six thousand Three Twenty Rupees only /-

Sign:



Allowance For Equipment Pitami Naga Ganesh Kumar AMTZ Visakhapatnam

Date:

12-11-2025

In favor of:

M/s. AMTZ MEDPOLIS SQUARE 4554 PVT. LTD.

Project/Site:

AMTZ4554

Location:

Visakhapatnam

Type of Work:

Lifts electrical work

Towards

Allowance For Equipment

S.No.		Description	Amount
1	Breif description of w	ork: South Lift 1&2 electrical work	-
	Lighting and Power so	ckets, point based including conducti	ng. 6,320
	Total amount:	15,800.00	

Amount in Word: Six thousand Three Twenty Rupees only /-

Sign:	
21011.	
515	



Allowance For Consumables Pitami Naga Ganesh Kumar AMTZ Visakhapatnam

Date: 12-11-2025

In favor of:

M/s. AMTZ MEDPOLIS SQUARE 4554 PVT. LTD.

Project/Site:

AMTZ4554

Location:

Visakhapatnam

Type of Work:

Lifts electrical work

Towards

Allowance For Consumables

S.No.	Description	Amount
1	Breif description of work: South Lift 1&2 electrical work-	
	Lighting and Power sockets, point based including conducting.	3,160
	Total amount: 15,800.00	

Amount in Word: Three thousand One Hundred aand Sixty Rupees only /-

Sign:	
~-5	

